Standard/ Reversed » Post Clamps

Equal Dia. Perpendicular Configuration

i~ —_— Material Surface A i [®] Accessories (Hex Socket Head Cap Screws)
ode yp GB Equiv. Treatment (Screws) D6 RDE01/11/21/31 Rmzozn2/2)3/32/41;21S
RDEO01 Q235 | 5400 Black Oxide TACO1 _ 8| mgxlggpcs mgqg gpcs
Srera | - 10 X pcs| X pcs
RDEO02 Electroless Nickel Plating| TAC21 —12] M5%76 2pcs| M5%16 2pcs -
RDE21 | Standard Black Anodize | TACO1 15 | Code [M5x20 4pcs| Code [M5x20 4pcs b o
onEsaRl LD31 AB063 - 16 | TAC01[M5x20 4pcs| TAC21[M5%20 4pcs [ |
RDE22 Clear Anodize TAC21 20| M6%25 4pcs| [M6x25 4pcs LB
RDE41 0Cr18Ni9 | SUS304 — % mgxggzpcs W
" x pcs| X pcs
RDE11 Q235 | 55400 Black Oxide TACO1 35 MB8x40 4pcs| [MBx40 4pcs
RDE12 Electroless Nickel Plating| TAC21
RDE31 i
31 |Reversed ks AB063 BIackAnod!ze TACO1
RDE32 Clear Anodize TAC21
RDE51 0Cr18Ni9 | SUS304 .
@ Ifthere is requirement of rust prevention, please choose stainless
steel materials or electroless nickel-plated products firstly.
(D Due to the different production batches of products, nickeled products
may have fine sandblasting, which does not affect the size and function.
Standard
RDE01/02/21/22/41 evs/
D=6~12 Dur ! D=15~35 Drr
| 1.6
. L] 0.05 A
1 o014
6.3, ' T T T
T T T | R ! | B
O (o SpL B RTanHER
/ / \‘ I I R ! ! o
- i i W[ | @
H ol 3 ! - -
= | H 6.3
A A
c F £ E F:0.1 E
. 4-M H
2-M H \ 63
6.3 N T T
94 MR A K o | \ 1 }@’Tm
T Y NAL | o
K
2-K Dhz /83 . :
5 ® 4-K Dz 53
s ®
Reversed
RDE11/12/31/32/51 ! Dhr
Dz |
D=6~12 ' D=15~35 16 1]
SN reanE 005 TA
8.3 T T T
+ T [ I I o
T
40 C [ 3 ZE & LN o
NN | % | N o
H ol b3 ; | . £
=] ; H 5
A
E FA E E Fxo.1 E
0.1
4-K H
2-K| _H_ N 8y
\ 63 ™NT T T
4O T e, o LT :@7‘Z[m
I I
A @ ! et
5 D A) i 0 0
-M W7 | I
16
(D Dnr tolerance and verticality are the standards before processing the open slot. The first perspective
Part Number
A B C E 1= H N M K S
Code DH7
6 +9.012 34 10 10 12 10 7 M4 4.5
8 RS 41 12 12 14 13 8 .
10 ° 45 15 15 9
R 1
Standard Reversed 12 29 6 16 6 17 10 M5 5.5
RDEO1  RDE11 15 g.018
RDEO02 RDE12 T 57 22 22 18 21 12 11 1.2~2.3
RDE21  RDE31 16
RDE22  RDE32 20 69 28 28 22 25 15 14
M6 6.6
RDE41  RDES1 25 o 83 32 32 25 33 18 16
30 95 40 40 29 37 21 20 M8 9
35 +9-023 107 45 45 32 43 24 24

O With * only for Standard RDE01/02/21/22/41.

Part Number @ Discount price
Cods Dor A ¢ E.E Delivery

34 )
& R; 8 4 A

10 45
RDEO2 — D6

Please order
s!



	页 4

